Quiz 1 MATH 304 Section 3 Name: SO[UéZOVL,

To receive credit, the solution to problems will be clearly presented. Partial credit will not be awarded for problems
worked without comments. Unwanted work should be completely erased or clearly scratched out.

1. Solve the system of linear equations
T1+2m2 + 323+ 24 =8
T1+2x3+14=3
1+ 320+ x4 =7

If the system is consistent, write the solution as a set or in parametric form.

2 3108 | pepf 2 31,87 c.p
(o 2 15 =K O 2-1 0 - (\2:;
130 [1Z2dBTRER o3 o) TR
2 L5 2 3 | .8 )
STl L N PR Lt
O -2 - OS5 6 0O -7 O 7
t v & - R | 2 o 15 _

20? 12’33 O . -] @ 2_%% o 1 OO0 «2Z =R~ 2%,
60 1 001 8TR=S 5 o ] 007

Lo o 2 -1

o L OO0 ;2 X,= 1%

00 lO(‘? 7/2:2

] A, s amg—»ffvg

Free a/} =

2. Which of the matrices below are in row echelon form? If not, why not? Which are in reduced row echelon form? If
not, why not?
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